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qrm—I / PART—I
e Taerra va o fafa
CHILD DEVELOPMENT AND TEACHING METHOD

1. R faf 1 <o #0@ o fom 3§ @ fre 1. Out of the following which should not be
A T A SAaEED T kﬂé)iitéjmind while selecting a teaching
fa b £ method:
1) HEHEsH =6l
£2) faenidal =1 Hg;;: il (1) Parental background
& =l We b i (2) Mental level of the students
£ ﬁul;zﬁ fafire u=fa (3) Individual distinction
;‘:7]:[ = e e '{TEW_J 1 T~ (4) Specific nature of subject
& 27 s R L 2. Which of the following is not a
: A characteristic of childhood?
(1) TS = =i

(1) Lack of curiosity

(2) fighs # o (2) Stability in growth
(3) W%GW 1 e (3) Extreme gregariousness
(4) T2 vA Qeil § geifin (4) Participation in group and games
3. 7 # & M- [ uEA A weEn 3. Which one of the following is not related
e 27 to creative process?
(1) frm (2) A (1) Motivation (2) Preparation
(3) 3g¥ad (4) weluq (3) Incubation (4) Hlumination
p: %ﬁ-::' B B % R T A 4. Which of the following is the first step of
' growth and development?
(1) s foeE (1) Social development
(2) i fom (2) Moral development
(3) i foeFrg (3) Physical development
(4) WHfE fawa (4) Mental development
5. HiE U ©E F TR H 5. Learning is a form of behavioural
(1) ﬁﬂ-?m (i (1) continuation
(2) @i @ (2) modification
(3) === @ (3) withdrawal
(4) TER R

(4) extension
6. et a7 1 yam T sma @ 6. A Skinner box is used for

(1) g FTga & ferg (1) operant conditioning
(2) motor learning
(3) verbal learning

(4) HfEE s % fag (4) incidental learning ;
(7: ﬂﬁﬂT"Fl &1 wifen 92 e FE 7. Bhatia battery test of intelligence has

(1) 8 3y-glgy (1) 8 sub-tests

(2) 4 39-ufiegm ' (2) 4 sub-tests

(3) 5 3g-yliaw ' (3) 5 sub-tests

(4) 7 39-wliem (4) 7 sub-tests
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https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

8. Tirermea Tty =1 witares e frn?
(1) wi-Ed (2) 3
(3) ®RE (AR
9, G WIWYl & Faren §
(1) U=
(2) Tafers
(3) ¥
(4) =W A FE T8

10. ST % ST SHGEN & WA g G gorrah

EE

(1) =¥ TN HH

(2) 38 wa-Taar =1 giua e
(3) B I sfoeg ==

(4) ST SHTRR F HI0 & Yl AIET q41

IR F G
11. fFemorfea wafta ?
(1) T e ded SHE 9,
(2) REA gadi wEE ¥
(3) Ues wad wHE |
(4) aTE-ama wed o |

o

12. 35 faf vd Iu-feEn feey fAu 9

WEgH % ¥9 § 9ge R T dehd 87

(1) =feEfya faandi

(2) #avETE frenef

(3) Zfarfia fernefi

(4) wiife &9 @ fawam faanedi
13, o z&go THo To &1 54 B

(1) Pl SAEvgEd a1 9=

(2) faftme wmazadd ard o=

(3) WeEA ATEvAE] AT TH

(4) Wg AETEEd a Aft ’
14, fa= § | @a-w1 Wl 1 0% e qE 87

(1) favarma

(2) #fow 3fe

(3) wETCHTL

(4) HEE

Paper-2/B

8. Who was the founder of Kindergarten

method?
(1) Montessori (2) Cook
(3) Froebel (4) Dalton

9. Propounder of collective counselling is

(1) Rogers

(2) Williamson
(3) Thorn

(4) None of them

10. To modify undesirable behaviour of the

student, the most effective method is
(1) to avoid it

(2) to inform it to the parents

(3) to punish the students

(4) to  find out the causes of
undesirable behaviour and suggest
remedies

11. Dyslexia is related with

(1) problem in calculating

(2) problem in writing

+ (3) problem in reading

(4) language disorder

12. Braille method and tape-recording can

be used as educational provision for
(1) orthopedic impaired students
(2) hearing-impaired students

(3) visually-impaired students

(4) physically handicapped students

13. CWSN stands for

(1) Children with Single Need
(2) Children with Special Needs
(3) Children with Strong Needs
(4) Creature with Soft Need

14. Which of the following is not an element

of counselling?
(1) Confidence

(2) Professional growth
(3) Interview
(1) Communication

[ PO
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15, tr'ﬂ_raiﬂmﬂt*ﬂ. IR yau wEl @ 7 15. Where is Burcau of Psychology, Uttar

(1) sEmEEe (2) 3y Pradesh situated?
(3) wETH (4) @) (1) Allahabad (2) Agra
16. S g fepm @ 9@ @ wd uHens Sl ROt 4} Varanaés
ﬁ#ﬂ:ﬂﬁ W o1, adl gy aﬂﬂiﬂl ekl o1 16. The relation which Skinner has with rats
(1) l_jﬁ*l""ii 3 (2) sl q and .'l‘horndikc has _with cats, same
(3) L?t._’rﬂ- 3 () c{-mljtﬂ 3 relation Kohler has with
(1) hens (2) monkeys

17. HuT %1 yar ¥
(1) o1fem & Ay
(2) 3tfeEg =) ganfy
(3) eiftny § srawg adq

(3) dogs (4) chimpanzees

17. Learning plateau is
(1) defect in learning
(2) cessation of learning

5‘4] 3‘:7{\%1‘11:! q fﬂaﬂﬂw , (3) arrested growth in learning
18. 3 %%ﬁm A R e qEd# * (4) obstruction in learning
TG 18. The writer of the book, The Behaviour of
(1) & (2) Yaea Organisms is
(3) & 4) of (1) Hull (2) Pavlov
(4)
19. 1 # W =gEn % ufhaw g wEifw (8) Skinner (4) Thorndike
WW%? 19. What is the most important for the
(1) <ug ' training of right behaviour in students?
(2) FERR : (1) Punishment
(3) Wil (2) Reward
(4) HEl FER F TEGHL (3) Praise
20. T THEE & "Gf'éai £ . - (4) Presentation of right behaviour
e et T e ' 20. Who had proposed the ‘Goal gradient’
concept in problem solving?
(1) H=e (2) rEe (1) Kendler (2) Kg
: 1 ohler
) . 55 (@) T (3) Hull (4) Brich
21. 7 B F17 g59-forem) 4 gy @ gt : :
T8 57 g 21. Who is not associated with the idea of
. : micro-teaching from the following?
(1) =fae 7m (1) David Hume
(2) e z=o v (2) D. W. Allen
(3) = (3) Bush
(4) uHTEA ' (4) Achison
22. T4 # 8 Z1H-71 Wev- iy 1 w27 22. Which of the following is not the level of
(1) guadf T teaching-learning?
(2) pgﬁ.,m (1) Reflective level
(3) gy W -~ (2) Memory level
3) Understanding level
(4) m i ( . g leve
23. fw A & Am-d e foem § st i e \
faraqur fify T# 27 23. Which of _thc following is not democratic
(1) strategy in classroom teaching?
2) | (1)  Project
Ay (2) Heuristic
(3] T (3) Lecture
(4) #fEaes T5eH (4) Brainstorming
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24, T 7 § $a-d sl S 6 oo

A ferewen

adt 27

(1) =R fesum el A e ¥ I M
i sufea g ) s dan 3 gaem B

(2) wHE e uw wda ufea R, ug o
uifsia sreaeen 0 Seumg wH R

(3) WR *Faw fafw syEvawa 9@ ot %
diad 4§ sifvafy s 2

(4) g W) Tl i smastl N sfveam
TR @ S STed) 8

25, 9 3 ¥ *9-9 wive A 3 Sk

]

ao.qaamtﬂwﬂm.

Te | i T8 R7
(1) wfoarEs
(2) T s
(3) B T
(4) #F
26. wY J 3 F T TFR ¢
(1) 9 (2) efam
(3) U™ (4) 3=
27. “78 05 dimn 21 e ww o7
(1) Farg (2). o Aw
(3) d=FA (4) m‘!ﬁaﬁiﬁ

ﬁqﬁ%aﬁq-mﬁlw—cmmwﬁ%? i
(1) famam o

(2) =i

(3) @19 wrlerTE

(4) 34 CIERE . <E)

29. foam 1 w=afrarenm saed § yea whear

eIl #

(1) weaHiE Hl

(2) T o wfafmm A
(3) Fem$

4) 9F H4

25,

26.

27.

28.

29,

30.

» Which of the following is not a

characteristic of inclusive education?

(1) 1t is the shift in service from
the care of disabled children to
their  education and personal
development

(2) Inclusive education is a continuous
process, not an achieved state or
product

(3) It enhances learning only for
students with special needs

(4) It secks to maximize the potcntlal of
all students

Which one of the following is not
rclated to Flander’s interaction analysis
system?

(1) Guardian talk
(2) Teacher talk
(3) Student talk
(4) Silence

In speech, the smallest unit of
meaning is

(1) syllable (2) phoneme

(3) morpheme (4) words

“We learn by doing.” Who said?
(1) Simpson (2) Dr. Mace
(3) Yokam (4) Kolesnik

Which of the following is not the level of
teaching?

(1) Reflective .

(2) Memory

(3) Understanding

(4) Descriptive

The main operation in interactive stage
of teaching is

(1) perception

(2) action and reaction

(3) diagnosis

(4) All of the above X
A child starts fearing after seeing a black

cow, black dog and black objects. This
type of conditioning includes

(1) stimulus generalization
(2) response generalization
(3) response conditioning
(4) None of the above

G [ P.T.O.
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31.

32,

33.

34.

35.

WrT—II / PART—II
w1 : f&vdt / Language-1 : HINDI

N T ferey war 27

(1)

T F AFTAF TR 2
(1) Tfq, =

(2) Fm, s2e

(3) M, 5=

(4) w&, T

‘gm’amaﬁaar@faww%?.
(1) o1, fizaw

(2) ared, fasiet

(3) @rd, 9l

(4) &1, Tifeh

A F S A AEEE —ald T o
w9 27

(1) =THRTT AT

(2) 7o % fawg w9 %1 B
(3) @ i Al s

(4) HaE EH

Paper-2/B

fdw (v do 36 3R 37) : fqu T syg=a2 =
wATyelen ygent et gt & ad fawey wifey)

e § € YHfd SN AgE w1 g2 wad @ 2|
yHfd 3R Oq® #1 ey IFAAHG AN T
He-wfara w el 2 wapfa 3w % forg s
aw@l H I AT w4 g4t % we, d@6, 99
S @Rt Aoty firerd | Ug-atY 74 FHaer vsE &
YeH T & iy Shamarfa arg, s §t gam
FA §| T TR | HTeA SRATHAZES H TG0 Fd 2
HR sfferefrorT =men Feprera &1 gt o BTl % Ea
Ts-te & &) 9t % Fnw I ve-dg & 21 g3 A
A STETEFATHT A gfd * fu FH-H9e1 & AUy
a1 foem @ TS o wkfae ardger 3eE & T
2| FafeRy 8 ffedtse ) FH 3t Fee giaaEe
#1 FEIall au1 TG VN F FRO FAF TFR F
aash siEl % W@ # | Yg-dul i wH F Fer
AT, T 3 qff-anor S gren ey & 2

36. Y-y &F 41 7 29 27

(1) @ftaret (2) wT=H
(3) ATeReTeH (4) S
37. T STHGEH 1 g T qE 27

(1) 9s-9at & ® & Fr0 9, JEER
@ 3R -2 ) g9 Sy e

() FRE B T F e e
SEHTFES | FIad

(3) T WY % werd =iqw ST w5
el

(4) SRR 3571 | B 7& = g

v Ruerr 1 Ry 3

(1) sda et (2) Hoe goh

(8) TR (4) swEwEy woneh

s 3R foreim = f=fifea

mﬁmwﬂﬁg&a i <

(1) frdvwor—fasm (2) dar—anier

(3) WNG—HE  (4) wwA—gahio

ﬁﬁr%fﬁaﬁﬁaﬁw*mﬁquﬁg?

(1) H—=m

(2)  SFTR—3iR-afy

(8) STIRI—TEqT

(@) Fh—Ffgpe gew

:

38,

39.

40,
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41,

42.

43.

R I e B a B Y e e B P T
&1 319 a7 27

(1) $&T 9fth ) SIgHL L A 1 S

2) &Rt sl & oanl wRT g

(3) 3wy H wiw # sywe A

(4) foedt = o ) Ve W @ w1 9
FAT

ST SR 39E 9 @ FEiG B S Tew

&7

(1) @ 3 wwo R o wen m—agw

GiED)
= 1A T U T 9

S UYH CIICT WE JEER rem—fy
CIED]

T % Tou uw vee @ gafud SH-91 Sie

T 27

(1) 58 @9 54 e a—3g=gd

2) Tm=w == 7 a—g O

(3) S FFEM A P AR

4) s sfoem fo@ s % g0 @ @ H
B—mifaais

(2)
(3)

(4)

. frm-fag #i gfe & #9-1 T IR 27

(1) =&, ufrd, 4ar, iR off o8 & 3 99
g AT AT |
(2) & et § grER WA S FR

- (3) # 7 !

45.

(4) =83 @1, T FE A7
e on zEF Afaug w1 oFE-E e
e 27 :
(1) o o e i T o g @
il o gord w18
(2) @i =T @ 6 ged—ag HH % o
sty wae & serd Al @

(3) warél @ firr, e # wg—uF Mt @
et qadl fedfe # wgr

(4) T2 1 g am-aw ged v AE wgd—

#1a &) giel an-ar se s @ |

Paper-2/B

46,

47,

48.

49,

50.

‘fﬂ’iﬂﬂ’ e o1 faem Freafefaa # & 2
AU

(1)
(2) ure

s1fefoms
(3) GATEH

(4) 4

fraferfaa gmi 4 @ #9-w o™ 27

(1) TI-01 SAH—er=a! arg § ufifad 2
(2) AR SHT—ETHAT FAT

(8) T ATHT—3TheTd LT

(4) S % HH FeA—agd AL 2]

AFIRE 3 3GF A% F 12 4 & F9-97 A2
TeTd 27

(1) 379 si€t a1 S@—ad Fi i 93
it wftrmTett 2.2

352 9R HIaTe T SRE—3THT 219 J
HHEH G T A

(2)

(3) AT =1 [T AH THAGE—T™ F AfaEa
T

(4) T 9 g§ HR—IE F WAl

‘Tgr’ & dfu-fasse &1 wd fwea FH-w
1 |

(1) 3= + 854

(2)
(3) 3¢ +EH

9d + €94

(4) T + T

P & 3 @ T R W
ehifom |

(1) =&
(2) €W
(3) =
(4) §¥
[ PT.O.
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51, HREr # A -w wy {7
(1) wEhf
@ fa

SHL
C @) W

(1) 3 # difta &
@ FHET ._
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WM—III / PART—III

WINT-II : 30t / Language-II

61. Which of the following sentences has the
antonym of narrow’ ?

(1)
(2)
(3)

(4)

She is utterly selfish.
I admire his broad outlook,
He is a good boy.

[ know him well enough.

' 62¢ According to the NCF 2005, learning is

and in its character.

1)

passiVe, social

{

(2) passive, simple
(3) active, social
(4) active, simple

63. What does motivation do in the process
of learning?

(1) It makes learners think
undirectionally. :
(2) It sharpens memory of the learner.
—~ (3) It differentiates new learmng from
old learning.
(4) It creates interest for learning

among young learners.

64. Fill in the blanks with apprppnate
prepositions :

Ashoka is worthy _ remembrance,

(1) at il
(2) for |
(3) with

4 of (41

|

65, What is the subject of the following
sentence?

 No man can serve two masters.
(1)
(2)
3)
(4)

Can serve two masters £
Two masters
No man can ik ¢

: ENGLISH

Directions : Read the given passage carefully
and answer the (Question Nos.
66 and 67) that follow by selecting the most
appropriate option,

questions

Among these adventures, in the year 1887,
was a youth called Jacob who was then
twenty-one years old. Although so young he
had already lived a risky and dangerous life.
He had been a seaman and crossed the
Pacific, and been a pirate and a river
patrol-man, a coal shoveller at a power plant,
a landless man and a'‘hobo’. He had tramped
the United States and Canada, switch rides on
freight trains, and dodging and fighting
railway men and police and knew all about
cold and hunger, and poverty and danger, and
he had served a prison-sentence of thirty
days.

Though he did little else, he had a great love
for books and words, and though he had
found no gold in the Klondike, these things
were soon to earn him a fortune. He came
back from Alaska after a year, suffering from
scurvy and without a penny in his pocket. He

| had, however, a great wealth of experience

and he began to write stories about places he
had seen and the people he had met. After
months of hard work and hunger, he found
success. Magazines began to accept his
Alaskan stories. Soon, he was famous. In the
next sixteen years he published fifty books,

‘and made and spent a million dollars. He died

in 1916.

66. In the given passage, what do you
understand by the word ‘hobo'™?

(1) Someone who does not have a job
or a house and moves from one
place to other

(2) Someone who is brave

(3) A hero

(4) Someone who fights with everyone

and does not sit quietly ever

[ P.T.O.
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67. ‘Scurvy’ means 78, What will be the feminine gender of

(1) an injury caused to the body from ‘wizard’? Fai
freezing cold (1) Lizard (2) rairy
(2) a sea-sickness (3) Witch (4) Ghost
(3) a. disease resulting from a lack of 74. The masculine gender of vixen’ is
vitamin C (1) fox (2) horse
4 ine .
(4) a feeling of nausga (3): ok (4) deer
68, ldEn-nfy_ the wrong collective noun? 78. Which of the following sentences has the
{4, Sheeps . correct punctuation marks? .
() Soissaps., ' ' (1) The minister said, “Elections will be
(3) Army : ' held in MP, Bihar and Orissa.”
(4) Daughters-in-law | : : (2) The ‘minister said, elections will be
' held in M. P., Bihar and Orissa.
69. Identify the correct sentence amdng the (3) The minister said “elections will be
i _ cld in MP, Bihar and Orissa”.
) Please overlool ": 1n1ster said “Elections will be
(2) Please see MP, B1har and Onssa
(3) Please look a ong the fouowmg suﬁixes is

BOITE

sk ?{ﬂu:&am o B ana

aes v dtlsow

= for the reot Word ‘prevent’ ?
f[Sl'_) ive

Supoo

LOTTT STy 11541 191}8;' ‘J:‘
b in the following

agigiess) bl
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80. Which of the following words doesn’t 85. Which of the following sentences has a

have a silent letter in the pronunciation? collective noun?
(1) Orange (2) Honest (1) Raka is a fool,

(2) Cattle are grazing in the field,
(3) Knock (4) Debt (3) He has a lot of milk.

(4) The air is cool here.

81. Which part of speech is the word ‘who’in | 86. Identify the sentence in passive voice ;

the following sentence? (1) He will be taken care of.
“God helps those who help themselves.” (2) He teaches Chemistry.
(1) ﬁdverb l2) Noun . [3) They live in this c‘i(ty.

3 . (4) Ram is flying a kite.
(3) Adjective (4']_ _ Pronou\n 87. ldentify the sentence in active voice :
- (1) 1 know nothing about western

“

82. Which part of speech is
the following sentence

“Shrutl wantcd to wo
her room.”

hot .ta;ught in my college.
will be. caught

ked down by a car.

ing sentences is an

creature..
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a—III / PART—III
WINT-I1 ¢ HEhRa / Language-II : SANSKRIT

1. ‘99 gam:’ 1 areiEd g 67. e vy foen &6 I awed 7 @z
(1) ey g A N9 AATHE B FE] 491 )|
(2) w4 ¥R Aefia: qaHed w4 et
(3) reiy: gl | (1) = ==
@ T EE : Ziagees. (2) %7

' i (@) AT
62. ‘99w 'é’iTn -
) ﬁs@mﬁw = et o e
@ FRw® | es vy fm 30 3w A A e
3) fasmart wenfy Fm (6] { H!ﬁﬂﬁﬂmﬂﬁmﬁﬂﬂmﬂ

STAHISId) HidTYal @ wad: ?

FoEG B AETE (B

$hF §F pETeErT L3¢
s (1)
w{S)
)
m ah}m,sx:i

L—" |""
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72. ‘A’ 1 TemEw 2 77, ‘mfear’ s & fow @
(1) fafs (1) AgaHcH
(2) s (2) gfrw
(3) ag: _ (3) wifers
(4) ¥ (4) Bifes
73. B4 e g 1 vataar a6 27 78, ‘oo wet g fwfE, gae H w9 R
(1) g (1) STeRiN: '
@. fm (2) e
By [P, _: ‘ A | (3) T

4 T
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g2. ‘wd’ W wgefl, whew, gfew w1 w9 R 87. ‘TSR o wwra-fae 2
(1) T Ry Ml
(2) @&
(2) st Ya:
(3) waly . k4
@) wal . (@ 3
(4) TS + 93
83. ‘wwfa’ 9 fkm uig w1 ®?
i 3 | | 88, Hiewwe AEEE R
= _ 151 (1) sredivE

@ mﬁ?ﬁﬁ%ﬁ?@nmﬂ%‘i'

o L S

s&.‘ﬁaﬁw

FOL Astiimaes 3

,u} #‘G““ lﬁf

wh e § AvQ ce
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WF—IV (1) / PART—IV (1)
TfoTa vdl faS / MATHEMATICS AND SCIENCE

91. Fm=ferfaa & & a-w w urgfrs Yan ot &7

(1) Ul (2) WA
3) e (@) -
92. ETH TR R
(1) St 2) ™
[B) S&= (4) W&
93. FTEA(SH Hel I B &
(1) vgA4 (2) siEwE d
(3) YT (4) TR Q.
Wkﬁmww:érﬂa#ha%mﬁmmarmmma
EEEEIEICIR
v
(3) sl

5. 019l § TEE-gvemm F |
(1; W :

91. Which one of the following is not a
natural fibre?

(1) Acrylic (2) Cotton

(3) Silk (4) Jute
92. Ginger is the modification of

(1) leaf (2) stem

(3) root (4) fruit
93. True fruits develop from

(1) petal (2) ovary

(3) thalamus (4) sepal

94. Plant which reproduces by means of
S org% instead of seeds is

(2) mustard

(4) petunia
essential for synthesis of
ts, 19 =

(2) magnesium

(4) iron
the fallamng is not a
cable dlSEase?
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101. AR T HH A W& e A A

S, T e Wl g %\a A ﬁ ﬁmﬁ

wfowa = gfe Af?

(1) 300% (2) 150%

(3) 200% (4) 600%

a a+b+2c

102.=rﬁ3_—_-€r | el T ?

ny 4 R 3% o

(3) 38 @) 5

103. K ¥ %9 §W $ivm fes fw sl
x-Ky=2, 3x+2y=-5 T Afda 7 &

101. If each edge of a cube is doubled, then
the percentage increase in its total
surface area is

(1) 300% (2) 150%
(3) 200% (4) 600%
102, Ifg-——E:f th a+b+2c
3 2 1 b
(1) 4 (2y 788
(3) 38 (4) 5

103, Find the value of K for which equation

" x-Ky=2, 3x+2y=-5 'has unique
solution. '

=2
2) K#=
(2) 3

-2
4) K=—
(K 3

in 6 days. B takes
[it. C takes as long as
e working together.
it take B and C to
k bogcther? ’

Lg) ) da,ys

(4) 22 da&a

i -

, the mean of marks
cl a{ao st;wh:nts was

.-5’8*5 Later on, it ‘was
arks of one student
ie as 57 instead of 75.

)

i 1(2] 209
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107. Sg4S Clx3+bx2+x-6 ®OUH UEEE
(e+2) ® 3RS g gae i (x-2) @ A

g, @ Nvwa 4 W B )

> | a M b w1 e
(1) a=1, b=1 (2) a=0, b=2

3) a=2, b=0 (4) a=7, b=5

108. W siadHl fobeg stradi qemers G d 2

(1) U Wrpfaw g
(2) T Uiy HE
@) T s
4) T iy wen
109. feu 7 fax W, pAB 99 f) Y% Y@ W@ pr

R ®1 afe pr=s A sk pa=3 R A, |

dl AB ) Wy g Fifvw|

ax3 +bx2 +x—-6 has
and leaves remainder 4
(x ~2). Find the value of

107. The polynomial
(x +2) as a factor
when divided by
a and b.

(1) a=1, b=1 (2)
(3) a=2, b=0 (4)
108. A non-terminating but recurring decimal
is
(1)
(2)

a=0, b=2
a=7, b=5

a natural number
a rational number
(3) an integer
(4) an irrational number
109. In the following figure, PAB is a secant
- and PT is a tangent to the circle. If
. PT=5cm and PA=3 cm, then find the
- measurement of AB. ..

a2 15 cm
PRl Qi@ HTE (HE &
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114. fra ug A 8% aifi® =are ) W/ QU

w,wm%ﬁn?
(1) 534 (2) 8 &
@3 7. ) 6 a4

" 115, 98 9A-A-9A wew, @ 33275 = W
HA W qoEEe T g o A, R
(n S (2) 2
@) 3 @) 6

116. IR (p2 -8p+12) d (p? +4 p~12) T HewH
FNEEE (p~a) B, T @ F TA AW

(1 2 (2) -2

3) -6 (4) 6
117. g% x5 —6x2 +11x - 6%@1‘-@3%

(1) (x—Dlx+2)(x—3r -

2) (x—D(x-2)(x-3):
(B) (x+{x+2)(x-3
(4) lx-:liilx —2}(x +3)° ¥

114, 1211 what time will the simple interest be
3 of the principal at 8% per annum?

(1) 5 years (2) 8 years
(3) 7 years (4) 6 years

115. The smallest number, which multiply to
33275 to get a perfect cube, is
(1 s 2) 2
3) 3 4 6

116. If HCF ot'(p ~8p+12) and (p +4p-12)
is (p-a), then the value of a is

(1) 2 @) -2
(3) -6 4) 6
117. The factors of polynomial

-6x2+11x 6 are
(1) (- 1)(x+2)[x 3)
(2) (x-D(x-2)(x-3)
+1 x+2](x 3)

ts‘ﬁ gt Q.{‘!E" s S
N
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123. f3v m fom § AB= AC 3 zACD = 105° 8,

a9 ZBAC FUet R
A

1086*
8, % D

(1) 105° (2) 30°
(3) 60° (4) 75°
124, IR (B-A) F1 30% = (A+ B) F1 18% @), @
HIUA A: BRI
(1) 5:3 (2) 1:4
3y 4:1 4) 5:2
125. 3 §&11¢ 3: 4%saa§crmi‘r%|3={%mqu qur

gmﬂ°mwazoza%lmaﬁwzﬁ7m

_I‘j__ ¥

(1) 86
B) 72

126. I a*b=(axb)+b’
(1) 42; |
(3) % D+a)+ X

123. In the given figure 'AB:AaIC A and
ZACD=105° then /BAC is equal 1o

105°
B C D

(1) 108° (2)
(3) 60° (4)
124. If 30% of (B~ A) = 18% of (A+ B), then the
ratio A: B will be
(1) "§:8
() T
125. Two numbers are in the ratio 3:4. The

product of their HCF and LCM is 2028.
, The sum of the numbers will be

- (2) 68

)50
)+b, then 5x7 is equal to
@ 59

30°
73°

(2)~d: 3
(4) 5:2

3

lowing is the best
mety? .
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Fui T’i ¥ Mefa sier # I[P HA H

131.
fu wie @ Frafafas ol 4 4 Fra SpIgl
o s Wehal 7
(1) s gRae
(2) HEA
(3) 9B @914
(4) =19
132. Prfafa § @ #9-0 degRy 9 R0
(1) FTad SIS
(2) S
(3) TRISH
(4) S IE L
133. Prefafes § ¥ -9 uig g & R?
(1) fomum (2) THIEEE
(3) wieEEE (4)
134, fr=fafan ugedl 8 @ $9-91 59 87
(1) e (2) HMHH
(3) HEIEH (4) /T
135. frm 370 3 Yedudl 0w, Yeaq A @ 7
(1) senfeE HeicA
(2) S A
(3) e IREH
(4) B0 =
136. 50 =m0 4 ‘EE-5a E‘I?H%
(1) teduial b}
(2) o = :
(3) Tawaeard A ok
(4) ShaTvam fFn *
137. ‘9157 2 g
(1) #ER = S fEeEs
(2) NaCl %1 g faeraq
(3) fais® 9o %1 @ A
(4) Na,S04 #1 S faera
138. 7 el %1 F0W 1@ v 'Y T e R
(1) #rEgeH (2) TUeifeea
(3) % (4) TGS
139. am # AiggeE g 1 ufawa #
(1) 215 (2) 40
(3) 78 4) 3
140. @ 2

(1) SR o g
(2) TS % it
h(ﬁ! mwww

23

131.

132.

133.

Which of the following properties of
water can be used to explain the
apherical shape of rain droplets?

(1) Critical phenomenon

(2) Viscosity

(3) Surface tension

(4) Pressure

Which of the following is a greenhouse
gas?
(1)
(2)

Carbon dioxide

Argon

(3) Nitrogen

(4) Oxygen

Which of the following metals is not 2
mineral?

(1) Gypsum (2) Hematite
(3) Bauxite (4) Limonite

134. Which one of the following non-metals is
liquid?
(1) Sulfur (2) Bromine
(3) Iodine (4) Phosphorous
.Which scientist discovered the

135.

radioactive element, radium?
(1) Benjamin Franklin

(2) Isaac Newton

(3) Albert Einstein

(4) Marie Curie
136. What is the reason of ‘stone-cancer’?
(1) Radioactivity
(2) Acid rain ;
(3) Global warming

(4) Bacterial activity

137. ‘Brine’ is

(1)
(2)
(3)
(4)

aqueous solution of chlorine
saturated solution of NaCl
common name of bleaching powder
aqueous solution of Na,SO4

138. The gas used in artificial ripening of

green fruits is
(1) hydrogen
(3) ethane

(2) acetylene
(4) nitrogen

139. The percentage of nitrogen gas in the air

is
1) 218
(3) 78

(2) 40
4) 3

140. Ozone is

(1)
(2)
(3)
(4

an isomer of oxygen
a compound of oxygen
an allotrope of oxygen
an isotope of oxygen

[ BB O%
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141. m S=HE & U H9 1 491 p ¥ wueh) 1R
(1) pjf m (2) mp
(3) ;=3rri (4) ;JI*E/LZm

142, 4, 10 3 20 3 ¥ vyl % T i
F 15 diee H) V2 ¥ e 5w 2 whgy
uI Bl (A = AfER)

(1) 4 A 2) 8 A
38) 6 A 4) 2 A
143. F=fafes wered § @ #9-u1 w RIEEtEER
B! X
(1) w=e! (2) €M
(3) Tew (4) AT
144. &= 1 9@ iy 2
(1) fEiq (2) aFH
(3) & H (4) @ H

145. 519 519 I TF BT # WH A U= £, a9 59
W T8 THER H AV I 2] 27

(1) 691 3799
(2) Temq s
(3) ©7 =W
(4) 9F F @ FE T
146. TF 944 §U HAAA 39U W AmiE R 60°
1 10 ST B, T RS-S9 5491 S17
(1) 90° (2) UBDAE
(3) 60° (4) 120° _
147. frafafaa 8 & #9-w o #1 S
qagT 27 _
(1) ¥-5ie - (2) el Ty

(3) ifeam (4) FrEFen
148, 9214 % w7 20 A % ey | FA- ohf
fs arg F1 s 27

(1) FHE (2) am |
- (3) @ (4) @
149, v e se B 2

(1) 1078 (2) 1076 @
“(3) 1077 & (4) 1072 @
150. 370 @ g X-fpuif = sferape fepan?
(1) FewEe (2) g
(3) Tz (4) efeied)

—-2/B 24

141,

142.

143,

144,

145.

146.

147.

‘148,

149,

150.

o s mis p.
Momentum of a particle of mas

[t kinetic energy will be
(1) p*“/m (2) mp

(3) p*m ) p?/2m

A battery of 15 volt is conncctc?oto da
parallel group of resistances of‘4,. \ ar}n
20 ohm. The current in the circuit wi
be (A = ampere)

(1) 4 A (2) 8 A
3) 6A 4) 2 A

Which one of the following materials is
ferromagnetic?

(1) Wood (2) Gold

(3) Nickel (4) Manganese
The speed of sound is maximum in

(1) vacuum (2) air

(3) water (4) steel

When a glass rod is rubbed with silk,
then which type of charge is created on
it?

(1) Negative charge

(2) Electric charge

(3) Positive charge

(4) None of the above

On a moving plane mirror, incident ray

forms an angle of 60°, then what will be
the reflected angle?

(1) 90° (2) 30°

(3) 60° (8)" 1202

Which one of the following is a
renewable resource of energy?

(1) Ground water (2) Natural gas

(3) Petroleum (4) Coal

Which physical unit is obtained by the

ratio of momentum angq velocity of
matter?

(1) Mass (2) Velocity
(3) Acceleration (4) Force

One nanometer is equal to

(1) 1078 em (2) 1076 i
B8) 1077 em (4) 1072 cm
Who discovered X-raygp

(1) Maxwell (2) Rutherforg
(3) Réentgen (4) Torricell

.
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grr—IV (2) / PART—IV (2)
AT 31eaad /3= fawa / SOCIAL STUDIES/OTHER SUBJECTS

91, Wi fren 1 Rew R 91. Objective of physical education is
(1) weRes e (1) mental development
2) Wi TFm (2) physical development
(3) wawiE fos (3) psychological development
(4) I ol (4) All of the above

92. Sefin ¥ wwim faardl & 92. Which player is related to Badminton?
(1) 9 FHHR (1) Dipa Karmakar
(2) e de Ry ~ (2) P. V. Sindhu
(3) e fys (3) Sania Mirza
(4) T == (4) Duti Chand

93. = & WY U S TG S &7 93. Pulses are very rich in ‘
(1) == (2) TR (1) fa}t . (2) prptem
(3) Fefe ) B, (3) wvitamin (4) minerals

94, Effect of the consumption of LSD is
(1) liver disease (2) cancer

94. LSD F US9 Y ga1 &

(h) A T (2) H (3) kidney disease (4) hallucination
(3) el &1 T (4) R favm 95. Benefit of exercise is :
95. U™ F T19 & (1) agileness
(1)  Fdiema= _ : - () increase in blood circulation
(2) TF ¥9E | 3G : (3) increase in appetite
(3) 3@ T : (4) All of the above
(4) zud® o 96. What is pie diagram useful for?
96. 31 NG 394 2 (1) Showing a particular amount in
(1) =@ ¥ g=y 1 5w —;»5 LG relation to the whole
) uefifa =1 % fou (2) Showing a pattern
2) F whren 71 v2hfa 0 % ﬁ'{q (3) Comparing different amounts
3) afim Tt 6 il S0 m (4) Showing features of the historical
S period
(4) tﬁ%'?a:‘ sy # FEEms A s 97. In Social Science, the recent NCF
e B gum W '6T5'T Srar posit}ilon_ paper on examination reform
At famm emphasizes on
THo o Tho AN T3 96 41 @ (1) flexible sitting arrangement while
(1) wiien % |q9a 934 1 el Hae T testing
(2) gijeq] TAs9eH 9T (2) test performance
(3) TAI-gErE FhE T (3) open-book exams
(4) Haq AFHeH T (4) continuous assessment
8, FEIfaT weggd el o1 3w B 98. Aim of social study teaching is
(1) @= i 2T (1) becoming a good citizen
2) 'Glﬂiﬁﬁ; faaq &1 fawma e (2) development of cultural heritage
3 an 3513@11 oy Tt (3) development of national integrity
3 m g and international understanding
4) All of the above
(4) mm (
foh ‘Gﬁrﬁ e &, wilf 99. Project work is important, because
(1) w met (1) i::gigg by doing is more lasting
g; :_: dmt wan I'll'-'-lTi‘l'll“I”Eﬁ“ (2) it enables students to be creative
@) T® ﬁﬂﬁﬁlﬁ ¥ R - (3) it enables teachers to be creative
# B e e & (4) it creates some work for students

25 ' [ P.T.O.
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T i

(1) foaemes ge@i & a=1 =nfey
(2) @R F fa=mi #1 wefifa w1 =i
(3) wEEEdS I Y WMa FE A1feT

(@ ® i sh s v A

FHT SR 39 FiamAiEe F =iey

101, ¥Rdia #el H g % Sied A e wen =

fomrmn =6 g ga 27
(1) 99 39e:

(2) HaIfy

(3) weTf SR
(4) Tato

© 102. T g8 % 5= g § gen °, A g

T srfirere @ i 27
() ®
(2) F20h
(3) WHAH
(4) Yoh M 11
103. fr=feifas § @ =
Feaen * o wftg
[ll. iﬁn%?m ¥

104 anaﬂq-qq-[ 41

plura.hstm society,

100. In the Indian = ol

textbooks of Social Scienc
(1) avoid controversm.l issues )
(2) reflect the govcrnments zl:w

ini
(3) reflect the majority OP
(4) include and represent al] religions

and social groups ' kidh
om the ].lfe Of u a
101. Which incident fr “n Indian Art?

is symbolized by wheel
(1) First sermon

(2) Sambodhi

(3) Mahabhinishkraman
(4) Nirvan

102. That Gautam Buddha was born in
Lumbini is confirmed by whose

inscription?
(1) Harsh

paintings?
(2) Amarawa.ti
(4) Bagh .

e fgllowmg had found%d
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108.

109.

110.;3313&1@13@‘3@'31’%\%@%@1
To=T oY
(1) STFst (2) TSR
(3) TH (4) SITESTRT
111. F=fofed & | e Tsg 8 2011 1 SO
¥ SEE F g sAwfRad gan #7
(1) WG
(2) 3N
(3) TeER
(4) STTRTS
112. BSUETS & = RE R
(1) TMered (2) T
(3) WEEI (4) -
113. SIS TH TR 2
(1) Fur=id 3 F
(2) =HF I H
(3) 3FEE A F
(4) U4 H § FIE TE
114. 3 3 T, PAF IR TE T, 8
(1) Fu R T
(2) 9=t 2R gEEdfd
(3) Tu AR TP
@) TF AR TE
115. @agm foage A @ Rl
(1) & 8K (2) =T F @t
 (3) vmi@weErR  (4) fee HEETR
ila.ﬁmﬁaﬁﬁmhﬁ‘ﬁﬁmmﬁm’
g 5l 27 |
(1) =amF & &
(2) EAETT
(3) R &
(4) 751 &
117, Tfafaa § @ f ‘den $ od Fed 87
(1) HmR (2) *H
(3) #HAgs (4) TEHHR
118. ﬁﬂ%ﬁgﬂ H B AW wER w9
(2) T
(4) ¥R

$w@ 3vEm gl ) o % ww uwa W
TITES HE 917

(1) e gh (2)  STEER

(3) TR @) ol

Yrg Fremgde oifern il @ e @fl o %
farsa 97

(1) FYIEH SfEaar

(2) WehgH TEd 7l

(3) T WAL TS WA

(4) 3Fsg@ i e
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108.

109.

110.

111.

112.

113.

)

114,

115.

116.

117.

118,

Who was the ruler of India at the time
of the establishment of East India
Company?

(1) Shershah suri (2) Akbar

(3) Jahangir (4) Aurangzeb
Sheikh Nizamuddin Aulia was a disciple

of whom of the following Sufi Saints?
(1) Kutubuddin Bakhtiyar Kaki

(2) Makdoom Yahya Maneri

(3) Baba Fariduddin Ganj-e-Shakar
(4) Abdul Qadir Gilani

Who among the following emperors was
famous as ‘Qalandar’?

(1) Akbar (2) Babar

(3) Humayun (4) Shah Jahan
Which of the following states recorded
decrease in its population in 2011
Census?

(1) Manipur

(2) Uttar Pradesh

(3) Bihar

(4) Nagaland

Hyderabad is situated on the River

(1) Godavari (2) Musi
(3) Mahanadi (4) Krishna
‘Coal’ is an example of

metamorphic rock

igneous rock

sedimentary rock

None of the above

two planets having no satellite are
Mercury and Saturn

Earth and Jupiter

(3) Mercury and Venus

(4) Venus and Mars

Lakshadweep Islands are located in the
(1) Arabian Sea (2) Bay of Bengal
(3) Pacific Ocean (4) Indian Ocean
Which among the following regions is
known as ‘orchard of world™?

(1) Savanna region

(2) Mediterranean region

(3) Equatorial region

(4) Tundra region

Which one among the following is called
‘Roof of the World’?

(1) Pamir (2) Aravali

(3) Satpura (4) Myanmar
Which of the following is the world’s
largest desert?
(1) Sahara
(3) Gobi

(1)
(2)

(4)
The
(1)
(2)

(2) Kalahari
(4) Thar

[ PO,
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119, %Lqm? Eﬂ’ wafrsrelt el wiasin w8l R | 119, Pakal Dul’ hydroelectric power project is
situated in
(1) SR (1) Jammu-Kashmir
(2) wREvY (2) Jharkhand
(3) SutEve (3) Uttarakhand
(4) WAl (4) Karnataka 5,
120. Fefafiad § @ 9 % duo wge 7 27 | 120. Which one among the following is not
(1) =™ (2) T a plantation crop?
: (2) Coffee
Q) (4) g (1) Tea
121. T (o To Ao 3ito) T gEATT i (3) Wheat 71 Rabber
. : %) 4 o 121. Headquarters of NATO is situated at
(1) weH (2) wdea # i a4 1
s ' ' (1) London (2) Brussels
@) =% (4) S 3 (3) New York (4) Paris
122. WA WOUR A el gt # R | 122, How many languages have been
ST F 35 R7 mentioned in the Eighth Schedule of
1) 2% () 18 ducriy ~ the Indian Constitution?
B 28 (4) 22 (1) 24 _ (2) 18
123. Ffeifas 3 § #H-w1 % ywda wfiam (3) 28 (4) 22
SRS 9T A€ /7 hi of the following is not a part
1) wemes le of Indian Constitution?
(3) THNER ; 1tic (2) 'Secularism
124__“131'&_’31 T 5 : ' (4) Federalism
% GIud HH-d1 most important aid in the

R T S . 5 al 81:1“1.‘1135-;_)E -

On‘ w31

" lded m social
y level?
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129. T & # el wifty v ¥g wiedta S
g P geh firen w7
(1) =HF
(2) @
(3) =i g™
(4) Iuge ¥ ¥ wd A
130, fraffes § ¥ #w-w wgw TY W W
aﬁuwaﬁ??
(1) dge Uy Qualdrn, S oM HEH
A
(2) Tovs ey A
(3) W SR FHN e
(@) FEE FRETEH
131. T4 I R @R’ ¥ AW S
EILR
(1) STHINEH §ohe

132. TF eae S<mia d ur A 3@ " Al
(1) 100000 &fi®  (2) 1000 WX
(3) 10000 T& (4) 1000000 et
133. T F1 Fiid% Y989 Ta1 8
(1) o g/ (2) ¥ g
(3) W (4) HH T

134. ﬁg:@?a ¥ F-u FE A mﬁamra

(1) dfezm AL o gl

(2) wEIER Hehe

(3) aﬁmlaﬁtﬁwqﬁzz D 1<

(@) Ffen :
1as.ﬁaﬁsﬁ@zmﬁﬁmﬁmaﬁmgm

g FHE -9 27

(1) F& AR F 9zErd F e

(2) wrfrE FaEd

(3) T A 4 gd F AT

(4) ufwe FFE1

36. T % @ 1 Jifi ) wigan wrd et B

(1) firadnfizi g (2) =Wz g

@) 9z g (4) TR

7. Sl R # UfF . agE F f

(1) e % TH 1 A Al

(2) el & w & e a

(3) el & @ & = HA
: (@) el % @ T we
mmiﬂmmmmtmﬂmt?

S, Ll (2) weHETAE

@) TR
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been awarded
peace-

129, Indian soldiers have
UN Medal’ recently for their
keeping works in
(1) Congo
(2) Somalia
(3) South Sudan
(4) None of the above

130. Which is not an agency of the UNO?

(1) United Nations Educational,
Seientific and Cultural Organization

(2) World Health Organization

(3) Food and Agricultural Organization

(4) International Court of Justice

Which fertilizer is known as 'Kisan

Khad™?

(1) Ammonium sulphate

(2) Calcium nitrate

(3) Calcium ammonium nitrate

(4) Ammonium sulphate nitrate

132. The quantity of water in one hectare
centimeter will be
(1) 100000 litre (2)
(3) 10000 litre (4)

133. Banana is propagated
(1) by leaf (2) by seed
(3) by stem (4) by suckers

134. Which fertilizer is highly hygroscopic?
(1) Sodium nitrate
(2) Ammonium sulphate
(3) Calcium ammonium nitrate
(4) Urea

135. Which is the suitable stage of green
manure crop for incorporation in field?
(1) Post-flowering stage
(2) Initial stage
(3) Pre-flowering stage
(4) Maturity stage

136. In fruit juice sugar concentration is
measured by
(1) refractometer (2) chinometer
(3) potometer (4) tendrometer

137, The main role of pectin in jelly making is
(1) coagulation of fruit juice
(2) sweetening of fruit juice
(3) staining of fruit juice
(4) colouring of fruit juice

131.

1000 litre
1000000 litre

138. Which pigment is responsible for red
colour of tomato?
(1) Xanthophyll (2) Anthocyanin
(3) Cyanide (4) Lycopene

8 a0
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139. :ﬁ%_ﬂ el T He R 139. Lemon fruit is a rich source of
(1) fafgs s (2) erdfew are (1) eitric acid (2) tartaric acid
(3) Afers spe ) () uies s w1 (3) malic acid (4) acetic acid
140. ‘g g warerren” el sfeyq By 140, Where is the Central AGMARK
(1) ;“"‘\'l"l*“ (2) ATy Laboratory situated?
(3) }_i‘ﬂ (4) L.-u.‘-;'.]'._\,, (1) Bengaluru (2) Nagpur
141, 39S @ HH-Q §7 (3) Pune (9) JLugiesow
.3 Tk ; 141. Which are the constant (ACHAL) swar?
(1) 97 (2) -9 7
(3) ¥-H 4) WY (1) SA-GA (2) SA-PA
) ! 3 (3) SA-MA (4) SA-DHA
193. T S f"”ﬁ Y2 § Ie9e B 142. What is the Thaat of Raag Yaman?
(1) ¥l (2) Toremaa (1) Bhairavi (2) Bilaval
(3) FA™ (4) @, (3) Kalyan (4) Khamaj
143. ¥ fid # w91 7fa % wagq waw # w3 143. In music continuous flow of equal speed
(1) 49 (2) T is called
(3) @™ @) o= (1) Sam (2) Laya
(3) Taal (4) Chhanda
144, 13 fifRgfyy ;
R RY A R l44. i fifiafug, 49, 797 this swar
(1) T fEm 2) T A - group is knpwn as
[3; T Hed[u] :4; T foemaa (1) Raag Vihag (2) Raag Yamarll
(3) Raag Kalyan (4) Raag Bilava
. Wg‘”@%f‘:‘ o forem MO SR SR | 145, Who s the twriter of Jhanda Gaan,
. Vijaee Vishwa Tiranga Payara?
(1) Eiay U8 =5 J -
b (1) Harivansh Rai Bachchan
(2) WE=Ag IR (2) Rabindranath T
(3) T - . . indrana agore
@) FAHIC , (3) Shyamlal Gupta ‘Parshad’
o ISIE e (4) Harishankar Parsai
146. 91509 = oo 91a eHH ¢ - 146. Hormone released from thyroid is
(1) FFeA _ , (1) insulin
(2) YRIHESFIH (2) parathykalin
(3) (3) thyroxine
{4) T 3 B P T ' (4) None of the above
147. 514 & Q198 4 954 'qa;ﬁ ’.,ﬁ ﬁﬁ"ﬁﬁﬁiﬁﬁﬁ - 147. Water is used as a medium of cooking
53R m_‘m 27 in which of the following methods?
(1) W ! (1) Stewing
(2) @eFEHl ' (2) Simmering
(3) ZETEN (3) Boiling
(4) 2ol adfi 2 (4) All of the above
148, ZrFe g9 A fafy 2 148, Method involved in Dhokla preparation
is
(1) &l fafu _ - (1) deep-frying
(2) @it (2) 'fermentati
(3) 2yefl famard fafy ason
oilin
149, 21 a4 § @: A &1 A1y ) FEq ' 149, Two yearsgto Six years of age 1
(1) fameivoreean (2) drraraee (1) adolescence (2) b:fyhlsoga gk
(3) @reATER (4) e (3) childhood (4) adulthoog
150. Sie WgHUl o1 0 B 150. Reason of water polly
tion is
(1) W= % fpamem g (1) human activity
{23 Hz'éﬂ SHHE Rl g; poplizlactllon growth
~ - ) ) pesticides
(43 mgﬁ'a‘ﬁ b | (4)  All of the above
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